Question 3

3 Which statement best defines the geographical term sustainability?

HSC 2001 - Geography

(A) The degree to which phenomena depend on each other for development and/or
survival.
(B) The ability to meet the needs of the present generation without compromising the
ability of future generations to meet their needs.
(C) The relationship between people and the environment and the effect that they have
on each other.
(D) The variety of living organisms on earth and the recognition of the need to maintain
and protect this diversity.
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 14 5.8 8.8 4.6 0.9
B 29.8 40.9 61.9 82.4 96.5
C 28.1 20 6.9 2.6 0
D 28.1 33.3 224 10.4 2.7
N 0 0 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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